Support Units (Square, Fixed Side) Support Units (Square, Fixed Side)

Compact / Low Profile / Mounting Hole Narrow Pitch Standard Type with Dowel Holes / Fixed Side with Damper
O misumi original Standard Type with Dowel Holes achieves more accurate positioning than conventional products and repeatability. For features P.792.
= Support Units (Fixed Side) . Material Surface [ T B — Fixed Side Standard Type Waterial Surface "
S Compact vpe 0,3 | ©),6 1), 3), 6), 6) 1o with Dowel Holes (1), 3) (6), 7). (1)), (6), (7) 7 Arrow View a =
— BSQ 1045 1018 Black Oxid P [ (Industry Standard, for _BSWG | 1045Carbon [1018Carbon|  Black Oxide o S
g L R i Carbon | DlackUxide 2 5 High Speed Applications) BSWGN Steel Steel Electroless Nickel Plating So 36.0 *29" Denth 6.0
= BSQM Steel Steel Electroless Nickel Plating - 3 .0 "0" " Depth 6. =
GED o |_|ﬂ“_, O Dowel hole inner bores do not have surface treatment. I © 1 g_
Most compact in size. = o
@ . . . 0, d=8 2-d1 Through & |/ =
2o [RoHS 10 [RoH 10 . d1 Throug & ]
& /2 Counterbore D i Y — ]
S : ;. i Depth 6.0 £0.02
3 Component Details o Component Details : 7t e— ’ ‘ i 5
=] No. Part Name Quantity - | Number Part Name Quantity = m i ®
= (1) Bearing Housing 1 . - _m | Bearing Housin: R 8
S (@) | Angular Contact Bearing Class5 | 1 Set @ Do not disassemble (1), (2), (3) and (4) as - 2 angllaH ComAGH AN IGasSH M S TEER 10| [22] |10 =
a: 3) Cover 1 they must remain as an assembled unit. ﬁg O(i;IO;Z; I W g
(4) 0il Seal 1 O ¢=8, comes with one Qll Seal (4).. ? 5 Hex Socket Head Cap Sorew® 1 d=10~25 * 4 Mounting Holes
(5) ___Collar i 1 * Angular contact bearing class 5 is used for No.8. 16 ) Collar 1
_(6) | Clamping Nut (With SetPiece) | 2 * For No.108, the L.D. of ol seal is smaller than 4-M2 Depth € @) Clamping Nut (with Set Piece) 1 d2 Counterbore Depth £
the previous No.10S version. O =8 comes with one Oil Seal 4(). 5 ©d25is not counterbored. —t
Ono not disassemble (1), (2), (3) and (4), as they must = ‘ ‘
Part Number M 0l Seal remain as an assembled unit. ; H I
Type No g e L L. E i @ i L : ¢ (Fine) T Applicable Shaft Dia. © * Screws 5 for BSWGN are Stainless Steel Type. ET [d=25 9] |30 ! 9
- For No.8S and 108, the I.D. of oil seal is smaller than the 48
8 23 26 4 32 32 17 23 o) 6 14 M8 x 1.0 14 1.5 . i ) a . )
Bsa [10S] 4o 27 295 6 36 03 25 2% 6 17 | miox10| 17 2 previous No.85 and No-108 versions.  Mounting Holes
I 10 . 4
BSQm 2 12 27 295 6 36 43 2% % 6 7 | Wi2x1.0| 19 5
5 15 29 38 5 46 52 30 34 6 12 19 [Mi5x3.01 22 0 Part Number Oil Seal
we | o | ¢ |t bk L | B K B K P Y | 4 | k| M) T e
Support Units (Fixed Side) Type Mafetial surfacellicatment 2-drThrough 8 1 8 | 23| — | 26| 4 | 52| 32 | 17| 25| 2 [ 3| 2206 | M8x1.0 1w 10
Low Profile yp 2-d2Counterbore 8 11.5
1,6 6, (1), 3), 6), (1)  Depih 022 7 o = -
BSV 1045 | 1018 Black Oxide 105 1
Carbon | Carbon = 105 | 10 3 | 2 35 1| M10x1.0 17 2
BSVM | Stee) | Steel | Electroless Nickel Plating 1 24 6 29.5 6 70 36 52 30 9 14 4
o) : Bswa 122 12 il g el M12x1.0 19 15
Lowest profile type. BSWGN 1 43 5 35 .
[RoS 10 . . 1526 46 6 36
2-d1 Throuah 1528 15 25 6 38 5 80 48 8 41 38 60 36 . - 15 | M15x10 22 20
d2 Counterbore 15 50 *30 40
Component Details d=10-20 " Depth £ gn go ?12 10 53 12 1905 ga gg 35 75 gg - mgg X }g go 2;5
No. Part Name Quantity © il seal (4)is not included when d=6. 5 5 8 3 [ & 5 8 | 35 5 | 8 = [ = X1, 5 3
) Bearing Housin: 1 @ d=8 comes with one Ol Seal @ =TT | . - O Take care in combining No.20 with BSSZ(K)2510, BSSR(K)2510 and BSST2510 Ball Screws. The ball screw nut may come in contact with the bottom surfaces.
q(g)p Angular Contaccgvlzsrzarin Class5 | 1 ?et @ Do not disassemble (1), (2, (3) and (4), —_—— = A /. Features of Support Units Method of Pressing against Externally Placed Dowel Pins ~ Using the Support Units with Dowel Holes Eart Nl:mber Part Number
@ 0il Seal 2 as they must remain as an assembled unit.. = - with Dowel Holes /| Xxample BSWG10
5) Hexaaon Socket Head Cap Screw” 4 *Screws (5) for BSVM are Stainless Steel Type. YA P ‘ 16 When mounting support units against dowel When tightening the As the dowel holes
- —— Oty s 10 et dameer losc s iy o o gty e o o o RSO o amprtys ks ping
— (| Clamping Nut (with Set Piece) |1 smatler fian the prévious year Ho. 105 versions. between the pins and the support unit. Using the wall may be created. locating is easy. produc}_s are filled ¥‘“th ||°W particle
the Support Units with Dowel Holes reduces If this clearance exists, generation grease for cleanrooms.
Part Number M il Se: assembly time as adjustments are eliminated. readjustment is required.
Tyne No. | ¢ 5 L L Ls E i 3 ¥ & % ¢ (Fine) | T | Applicable Shaft Dia.
6 6 20 = 22.5 35 42 22 1 30 5.5 915 12 M6 x0.75 | 12 =
8s 8 23 — 26 4 52 28 14 38 6.6 11 15 M8x1.0 | 14 10
BSV 105 12 L
BSVM 10 LD 2 @ 2 ® w & B & Y ® B ORI | 7 14 Support Units (Fixed Side with Damper) Material Surface
12 12 24 6 29.5 6 70 36 18 52 9 14 19 M12x1.0 | 19 15 (Industry Standard for High Speed Applications) Type 1.3 6 G 6
15 15 25 6 38 5 80 41 21 60 11 17 21 | M15x1.0 | 22 20 1. @), (), ) (1), @), ), 6) ® 425 is not counterbored
20 20 42 10 52 10 95 56 28 75 1 17 29 M20x1.0 | 30 25 BSWD 1045 Carbon Steel Black Oxide .
s its (Fixed Si ; 1
upport Units (Fixed Side) Material Surface | HT‘# HT‘# B
Mounting Hole - Y me | 6.0 1,36, 0) J 19 e Of J [RoHS 10 e ® i ‘ D o b L? o
Narrow Pitch BSA 1045 1018 Black Oxide Q} ! Q} — 10_| [22] |10 d2 Counterbore Depth £ (1) M
BSAM_| Carbon Steel | Carbon Steel | Electroless Nickel Plating Component Details a2 R N L - :
N e -
o Compact width design. No. Part Name Quantity *4 Mounting Holes - 1? TJ £ ) = ,ﬁ‘ S Yo — j
[Roi5 10| & @me @ © 0 B (1) Bearing Housing 1 2 S8 = =i
e | 4 ((g)) Angular Cont%ct Bearing Class 5 1 ?et L L e T o T ®
. M ) over TR : ‘ \ ®)
Component Details o = 4ot Through @) 0il Seal 2 l I e a w212 ‘
No. Part Name Quantity - 41 5) Collar 1 d=25 > 9 30 9 t L Lt
) Bearing Housing 1 @ Do not disassemble (1), (2), (3) and (4), i ° o T N\ T Ee; Clamping Nut (With Set Piece) 1 48 P
2) Angular Contact Bearing Class 5 1 Set asthey must remain as an assembled unit. = =—====—==" HI R @) Urethane Damper (Shore A70) [} . } B
3) Cover 1 *Screws (5) for BSAM are stainless steel type. i S = SE— 4 Mounting Holes
(4) 0il Seal 2 O For No.10S, the 1.D. of oil seal is smaller than g ‘ id ‘ g il il © Do not disassemble (1), (2), (3) and (4), as they must remain as an assembled unit. O For No. 10, the inner diameter of oil seal is smaller
g) Hexagon Sockgtonzfd Cap Screw* 411 the previous version. L3 L2 | 6 P | [0) (7)is adhesive bonded to housing. than the previous year No.10S versions.
L L1 B
7 Clamping Nut (with Set Piece 1 O The screw head (5) protrudes 2 mm from the cover. — - -
art Number M 0il Seal amper Di
Type no | 4t b kL | B H R B | H P d o d L Ene) | applicable ShaftDia. [ b c . 5
Part Number M 0il Seal 1022 40 | 22 32 14
Type No. ¢ t L L L : L L B, h: i & & (Fine) u Applicable Shaft Dia. 10s | 10 | 2 " M10x1.0 12
12 I
108 | 5 25 4 205 5 60 39 2 2 o1 % 1 woxiol 17 —12 10 24 | 6 |295| 6 | 70 36 |~ | 52| 9 | 14| 11 14 34 10 6 12
BSA 10 66 14 1223 12 4 23 33 Mi2x1.0 15
BSAM 12 12 25 4 295 5 60 43 25 35 24 46 13 ’ M12x1.0 19 15 BSWD 12 43 25 35 : 10
15 15 27 6 38 6 70 48 28 40 27 54 15 Mi5x10] 22 20 1526 46 | 26 | 36 |
1528 | 15 25 6 38 5 80 48 28 41 38 60 M15x1.0 20 46 12 7 15.5
Part Number @ Store Accessories with care. They are required when assembling. 15 50 | m o715
4 Example BSQMS 20| 20 | 42 [ 10 [ 52 | 10 | 95 | 58 56 | 45 | 75 M20 x 1.0 2% 50 | 15 | 10 | 18
BSV10S 25| 25 [ 48 | 13 [ 59 | 14 [ 105 | 68 | 35 | 66 | 25 | 85 | 11 | — | — | M25x15 31 60 | 19 [ 10 | 25
BSA12 O Take care in combining No.20 with BSSZ(K)2510, BSSR(K)2510 and BSST2510 Ball Screws. The Ball Screw Nut may come in contact with the bottom surfaces.

796 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 797



